NTERMEDBIATE EXAM

PAPER-6 .
FINANGIAL MANAGEVENT & SCP2(H) }2 4 MAY 5

STRATEGIC MANAGEMENT .
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Total No. of Questions — 8 :

Total No. of Printed Pages — 24 Maximum Marks — 70
GENERAL INSTRUCTIONS TO CANDIDATES

1. The question paper comprises two parts, Part-I and Part-I1. |

2. Part-l compnses Multiple Choice Questions (MCQs). |

3. Part-II comprises questlons which require descriptive answers.

4. Ensure that you receive the question paper relating to both the parts. If you have not
received both, bring it to the notice of the invigilator.

5. Answers to MCQs in Part-I are to be marked on the OMR answer sheet as given

on the cover page of descriptive answer book of Section-A only. Answers to questions
in Part-II are to be written in the respective descriptive answer book. Answers to
'MCQs, if written inside the descriptive answer book will not be evaluated.

6. OMR answer sheet given on the cover page of descriptive answer book will be in
English only for all candidates, including for Hindi medium candidates.

7. The bar coded sticker provided in the attendance register, is to be affixed only on
the descriptive answer book.

8.  You will be allowed to leave the examination hall only after the conclusion of the exam. If
you have completed the paper before time, remain in your seat till the conclusion of the
exam. :

9. Duration of the examination is 3 hours. You will be required to submit the descriptive
answer books with OMR cover page to the invigilator before leaving the exam hall,
after the conclusion of the exam.

10. The invigilator will give you acknowledgement on Page 2 of the admit card, upon
receipt of the descriptive answer books of Sections A and B.

11. Candidate found copying or receiving or giving any help or defying instructions of the

invigilators or having / using mobile phone or smart watch will be expelled from the
examination and will also be liable for further punitive action.

PART -1I 70 Marks
1. Section — A : Question paper comprises 4 questions (1 to 4). Answer Question No. 1
which is compulsory and any 2 out of the remaining 3 questions.
2. Section — B : Question paper comprises 4 questions (5 to 8). Answer Question No. §
which is compulsory and any 2 out of the remaining 3 questions.
3. Answers to the questions are to be given only in English except in the case of
candidates who have opted for Hindi Medium. If a candidate has not opted for Hindi
Medium, his/her answers in Hindi will not be evaluated.
s 4. Working notes should be part of the respective answers.
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PART - II
SECTION - A

1. (a) The following information is available for S Ltd. for the year ended 5
31% March, 2025 : ‘

Raw Material consumed 20% of COGS
Raw Material Inventory turnover ratio 4.00

Finished Goods Inventory holding period 0.75 month
Gross profit (based on COGS) 12.50%

Debtor collection period (all sales are credit sales) | 3 months

Proprietary ratio 0.3125
| Fixed Assets turnover ratio (based on sales) 3.00
Fixed Assets to Total Assets 40%

You are required to prepare a Balance Sheet as on 31* March, 2025 in the

following format :
Liabilities 3 Assets L4

Shareholders’ Fund Fixed Assets 12,00,000

(assume no Preference |
Shares)

Long-term Debt 15,00,000 | Stock of Raw Material il
Current Liabilities Stock of Finished Goods |

Debtors
) | Cash
» Total Total
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(b) Y Ltd. produces energy drinks in different flavours. Due to high demand 2+1+2
. =5
of its product, the rate of return on its earnings is 25%. Currently, the
company retains 60% of its earnings and distributes the rest. The current

P/E ratio is 8 and earnings per share is ¥ 10.
According to Gordon’s Model :

- (i) What will be retention ratio if the company wants to maintain its
P/E ratio to 12 in current year, given that the expected rate of return

for an investor is 20% ?

(i) What will be the expected price per share after one year if Y Ltd.

achieves above-mentioned targeted P/E ratio ?

(iii)) Will there be any change in retention ratio if the company wants to
maintain its P/E ratio to 10 in current year, given that the expected

rate of return for an investor is 17.50% ?

(c) Following information relates to A Ltd. for the year ended 31# March, 2+1+

2=8
2025 :
Profit volume ratio 24%
Operating leverage 2.00
Financial leverage 1.50
Interest Expenses 3 12,000
Tax rate 30%
N Number of Equity Shares 1,000

SCP2(H) P.T.O.
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You are required to :

(i) Prepare Income Statement for the year ended 31% March, 2025.

(i) Calcuiate EPS.

(iti) Calculate percentage chahge in earnings per share, if sales increase
by 5%.

Capital structure of B Ltd. for the year ended 31 March, 2025 are as 1+2+

follows :

Particulars Amount )

Equity share capital @ ¥ 10 each 14,00,000

10% Preference share capital @ ¥ 1,000 each 10,00,000

Debenture @ ¥ 100 each 9,60,000

Bank Loan 6,40,000

e  Risk-free rate of return is 14%, Market rate of return is 19% and
beta of company is 1.20.

. iO% Preference shares are redeemable at T 1,065.40 after 3 years.
e Interest on bank loan is 1.30 times of interest on debentures.

¢  Debentures are redeemable at par after 5 years. Floatation cost is ¥ 4
per debenture.

® Tax rate is 30%.

e  Cost of capital is 14%.
SCP2(H)

3+2
=8




—

&)
SCP2(H)

You are required to calculate the following :

(i) Cost of Equity.
| (il) Cost of preference share using YTM method.
(iii) Post-tax cost of debenture using approximation method.
(iv) Interest rate of bank loan.

PV factors @ 10% and 14%

Year 1 2 3 4

PVIF, o, |0.909 |0826 (0751 |[0.683

PVIF, ., , |0.877 |0.769 |0.675 |0.592

(b) Following details are related to H Ltd. : 2
EPS ¥3.00
Return on investment 20%
Cost of equity 15%

As per Walter’s Model, what would be the maximum and minimum price

of share ?
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3. (a) Following data are given for a capital project :

Annual interim cash inflows for first two years

< 1,00,000
Annual interim cash inflows for next two years |3 80,000
Useful life 4 Years
Salvage value at end of ﬂle project T 50,000
Internal rate of return 12%
Cost of capital | 10%

You are required to calculate the following :
(1) Initial investment

(ii) Net present value

(iii) Profitability Index

(iv) Discounted payback period

(v) MIRR

SCP2(H)
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Year

PVIFo , | 0917 | 0842 | 0772 | 0.708

PVIF o, | 0909 | 0826 | 0751 | 0.683

PVIFg,; | 0901 | 0812 | 0731 | 0.659

PVIFg,, | 0.893 | 0797 | 0712 | 0636

FVIFg o, | 1.100 | 1210 | 1331 | 1.464

FVIF; 15 1.120 1.254 1.405 1.574

Z Ltd. is an unlevered company. It wants to repurchase its equity shares
of ¥ 300 lakhs by issue of 12% debentures of same amount. Current
market value of Z Ltd. is T 1,400 lakhs. Its cost of capital is 18%. The
company will maintain same level of EBIT in future years. Dividend pay-

out ratio is 100%. Company pays tax at a rate of 30%.

As per Modigliani and Miller approach, due to such change in capital

structure, what will be impact on the following ?
(i) Market Value of Z Ltd.
(ii) Overall cost of capital

(i) Cost of equity
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What is agency cost and what are its types ? How can a company

minimize agency cost and align the interest of manager and shareholder ?
What are key features of bridge financing ?

What is hierarchy of financing under ‘Pecking Order’ theory, and why

does it exist ?
OR

“The total risk of any business is the combination of degree of operating
and financial risk”. In the light of the above statement, you are required
to consider the first two columns of the given table and give your

comments in the 3™ column.

Your comments should depict the total risk profile by using the most

appropriate amongst the following three words only :
Lower, Higher and Moderate,

Also select the best combination of DOL and DFL from the given table.

DOL DFL Comments
Low High
High Low
High High
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SECTION - B

(a) SemiCon Pvt. Ltd. (SPL) is engaged in manufacturing of semiconductors 1+1+

(b)

from the year 2024. Company wants to start a strategic path to be followed

1+2=5

in future so as to build best quality semiconductor and display design with

innovative ecosystem to enable India’s emergence as a global hub for
electronics manufacturing in a more structured manner. Placing core
values as its priority, it would like to clearly articulate its aspirations to the

stakeholders with a guiding beacon to keep inspiring its workforce.

Identify and explain one of the components of strategic intent which will help
indicate towards above stated intentions. Why such component is important

for a successful organization ? Also state the essentials of such component.

In addition to new market opportunities and change in customer
preferences, as a known fact, technology is also changing very fast. In
view of the same, ‘Twaran’, having a small and mid-sized business wants
to use latest digital technologies for improved procedures and products.
The primary aim of the firm is to have a competitive edge in the evolving
business landscape by digital transformation. The entity would like to
deal with regular changes firmly, along with transforming its

management techniques.

Identify the strategy required for digital transformation. Also state the

most preferred practices to be followed by the entity.

1+4
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(¢) MaAi is a prominent group of companies. Currently it has businesses 1+1+

(a)

named Alpha, Bravo, Charlie and Delta. In year 2020, the company had
acquired a business dealing in product ‘Nota’. In evaluating the
contribution to its portfolio, it was observed that product ‘Nota’, is not
contributing as it was expected rather causing a financial duress. After
identifying apparent problem area, in the year 2023, an emphasis was
placed on change in management and improvement in internal
efficiency. However, on further evaluation in the year 2024, it was
observed that even after due emphasis, positive outcome is not there and
in-turn the company decided to get rid-of the business related to product
‘Nota’.

Identify the retrenchment strategies followed by the company for product
‘Nota’ (i) in the year 2023 (ii) in the year 2024. Also state various

reasons to adopt the strategy by any organization, as followed in the year

2024 for product ‘Nota’.

3=5

Explain the importance of values, as one of the components of strategic 3+1+

intent for a company. What are the common examples of values ? How

values are different from intent ?

SCP2(H)
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In order to get better performance and sustainable competitive §
advantages, a company has to focus on the characteristics of its resources
and capabilities. In view of this, explain the major characteristics of

resources and capabilities.

What do you mean by value chain analysis ? Delineate the support 1+4
=5

activities in value chain analysis, as stated by Michael Porter.

Explain differentiation strategy as one of the generic strategies by 1+2+
2=5
Michael Porter. What are the major bases of differentiation ? Also outline

the strategies which can help achieve the differentiation strategy.

What do you mean by Key Success Factors (KSF) ? Structure the 1+2+
2=5

questions, answer to which can help identify KSFs of a company. Also

state, as to how the understanding can help ascertain sustainable

competitive advantages.

Explain in brief the expansion strategy as one of the corporate strategy. 1+4
=5

Also state the characteristics of expansion strategy.

OR

SCP2(H) P.T.O.
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(b) “A manager as a strategic leader has to play many leadership roles”, 1+4

while explaining the statement in brief, delineate the leadership roles

which a manager has to play in pushing for a good strategy execution.

SCP2(H)
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W - 11
SECTION - A
(Hindi Version)
1. (a2 Sifa =¥ 31 W, 2025 & forw s fofwes & fog Feafefae et 5
W%:
F= ATA HT ITHI COGS T 20%
F= W1 H T FRER (THAER) IFIT 4.00
AR HIA Bt T GO G5 0.75 W18
el @ (COGS T i) 12.50%
FER! i Fgm Faf (ww fih avg (Suw) Rekie) |3 W@
! Wi 3T 0.3125
El\ wrreft Ffe HFRER (THateR) i (ks w smamia) | 3.00
b Tt FtoE R wrE geafaat 40%
et e s 3§ 31 A, 2025 1 INRi® fegr s 8
TR X wefeat T
fri 1 B T B reft gt 12,00,000
(aftmm 3w Il
&)
refmre= o 15,00,000 | F=3 Wt 71 &9
=i e AR AT Y
IR
1%
A kiay
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b) Y ffire faftvm g # St 9 wemt @ SeaTed FEl € | 9 3G B 2414
o it 5 T, ) 3T SRS AT 25% R | d e |
ST T F 60% FRrena Het & aen AW frafa e ] | WA PE
AT 8 B A W WAL 10R |
wﬁqn‘m%m:

() af oo o & e ST P/E STAA Y 12 T ST T =&
< wfeveror St @ g, T rn R 76w A % f st
sl gL 20% 2 ? |

(i) T Td % TyETg W 31w w1 onfd qe w gon AR v fefes
IO IR P/E T TTed T AA @ 2

(iif) T TR ST & g afre g 3R et T o A A
P/E TR F 10 T I T@1 = B, foan wan 2 6 o e
¥ foru sraftra wirwer F R 17.50% R ?

() i o 31 W, 2025 % g A fafiee @ weafRa gEed fre sem | 241

KR EIRC RG] 24%
TfETes S 2.00
forcft Saiem 1.50
2IEks) % 12,000
F L 30%
"qum 319t 6 9= 1,000
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maﬁaﬁf&ﬁ%:
() TR T 319, 2025 % forw 3@ frawor a9me )
(i) EPS %t o ik |

(i) afe fospra 5% wg Stran B, & wfer 3w o # wferera af@d 6 orn
Hifore |

(2) Tue T 31 A, 2025 F forg B fafves 1 ol smn e yem @ €: 192+

3+2

v w ® &
3 10 Tk <6t THar o5 goft 14,00,000
T 1,000 WA I 10% MR 379 it 10,00,000
T 100 TIF % HOTH 9,60,000
o T 6,40,000
o SNflgnEa vfreat H T 14% B, TER ARBA H T 19% T
FoR H AT 1,208 |

o 10% WM 31w 3 9 F I T 1,065.40 WMGHT R |
o U W TN FOGAI WA M 1.30 MR |

o RYITA 5 TN % qIETq IET W MG ? | T FW 6 A0E 2 4
wfer o R |

o FIH3I0%L
gt o 14% 2 |
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ST FreTfeiea ) TR B S § -

@) () T

(i) vTM Fafts 1 3T H@ g ARHE 9 H A

(i) aﬁwﬁﬁwmmgﬁt—mwﬁm
(iv) e T Hl T T

10% T& 14% 1 PV HIH

i ] 1 2 3 4

PVIF, 0, |0.909 |0.826 |0751 |0.683

PVIFy 4, | 0877 |0.769 |0.675 |0.592
l

(b) ffiaa gt H frfee & wefe 2

—
EPS T3.00

fraw | s 20%

o () fara | 15%

ezt ) ST 3 IR, I Hl Sifran Te =as o a4 E ?
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(a) T Ysfira aREisT % fore fom arfers feg o &

—

worg €t 9Nt o foru AT ofafm A= siaats

< 1,00,000

T QA % g ifes Siafw Tt sicais

T 80,000

I5Erf Sfiem

454

IRASHT & 3T o SERE go

T50,000

™ T AR T

12%

gft i e

10%

anaeh! feferfiaa i R S R

() YR few

(i) TS THHE A

(iii) T YD
(iv) Temadt v- aafy

(v) MIRR

SCP2(H)
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PVIFg g, | 0917 | 0842 | 0772 | 0.708

PVIFy ., | 0909 | 0826 | 0751 | 0683

PVIF,, , | 0.901 0.812 0.731 0.659

PVIF, .. | 0893 | 0797 | 0712 | 0.636

FVIFg 10 | 1100 | 1210 | 1331 | 1464

FVIF,,, | 1120 | 1254 | 1405 | 1.574

(b) z%ﬁk%ﬁmﬁmﬁ%%ﬁoam%mﬁma&sﬁaﬁ
wrrﬁraﬁlz%wmﬂa;{%gﬁmmamﬁ%lz%ﬁ%@m
aﬁmwwu,mom@%,lwﬁt«ﬁﬁmls%%lm:ﬁ
7T et & BT T W EBIT iAW T | ST YA T 100%
2 ) et 30% Y Y FH YIAR FA 2 |
ﬁaﬁm@ﬁmm%m,@éﬁmﬁwm%
wereaey, Prefiied T I g8 ?

() 2z Tefies 1 s e
(i) Sf <t e AT
(iif) e () 6 e
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(a) VS TTATE 1 R CH THb THR A & 7 U HOH) T 006 Bl A 4
e eiersh U MU % TEall 1 J919 0 o qeheft 8 2
) T BT H e oA 7 € 2 4
(¢c) T AT Rgya & swla T T A Fn i @i RemA e 2
e

(¢ “Fedt R %1 & Siftan uiareE ik e SR S mF TR R 2
TR @ & 17 ST U F TH §, TR &) 7 qferst 5 qgel o)
FHieHI T =R ST 8 9 d wiew #§ sroft feoaforf 2+t & |

Fsht feoaferat @ FrefaRee e @7 weai § & waiaw &1 s@Em S@
T FA NRaq F1 ==

=, 3=, uem

o=t wnferest @ DOL @ DFL % Halem Saiem &1 999 i ST d -

DOL DFL feoaforit
= =
3= =

F 3= I
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SECTION - B

5. (a) Wrfiely W %.ﬂzomﬁﬁrﬁéﬁm%ﬁﬁﬁwﬁm% | B 141+
witre 3 e Wi et ST e 2, e TR TR
(msystem)%mﬂﬁﬁﬂﬂmaﬁﬂtﬂmaﬂtﬁmﬁm
(Display Design) %1 f¥aiw1 fovan s w1, afe wRa it sl a6% &
Sﬁﬂaﬁwﬁlﬁuﬁ%ﬁm@aﬁﬁﬁﬁa%mﬁwaﬁ;lmﬁ .
aﬁaﬁmﬁwmgq,%aﬁ%mmﬁ%mamﬁmmﬁ
aﬁmmﬁwmm,m&%mﬁmaﬁﬂﬁaaﬂ%mﬁ%
fore mmiestes wehe (erTmi-ww) Yem w0 |
mﬁﬁﬁm%m@maﬁqﬁmﬁaﬂtmﬁhwaﬁhﬁﬁmﬁ
ﬁaﬁréﬁaﬁﬁmmm%nwmmﬁm%m
H AEA & 7 3 A 78 T B A B T |

(®) TF @ T % w9 H, mEh! A ataasit § ufed s Tu aww smad 14
%&ﬁﬁﬁﬁ,ﬂﬂ;ﬂﬁ(technology)tﬁﬂgaﬂﬁﬁﬂaﬁﬁé | Tt & 8,
m’wmﬁtwmzﬁmﬁ,m%ﬁméﬁ?ﬁwﬁ
(Digital Technology) %1 w{iei us Ieurel & gum 3 fore 3w s arEeit
8 | St 1 Tt ae, Refveet siar (digital transformation) 3 grT
ﬁﬁmwﬁaﬁmwﬁgﬂﬁaﬁwﬁmmwé | wEe gt
mamﬁaﬁﬁwmﬁgq,ﬁwﬁawﬂaﬁ%mwm
R |
fefrea waieror (digital transformation) % 1T STervares R Y veer |
TeSHT T WA % waua % R Reft deen g ot 9 9t g
SRT YHE @ WM areft FHrEonferat (most preferred practices) @ Sft
¥ |
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(c) HE (MaAi) T FHI-Tt Fefi 1 wyg & | I9um § Ta% I, 1414

| S, 9SO 372 A % SR § | 2020 § wwEh ¥ sene A § b
WK % a T HEEE H AR R | e OFeRE)

l @onfolio)%gaimﬁag%mwﬁsmwﬁ%magm

T A TET 2 & R A o foefa ga S w2 ) 9 2023
TTE ¥ Q GHE B T h IS, YeO 8§ aiady 3k srvakes aear

T G AR fem | quh, o 2024 F o 3 gewin wO w 7w

<@ T 56 30 R & W 3§ we o awes giom a8 on @ ¥ stk
TP TROTHEET Ie1g ‘et & eifr sxraram & Fe 3 gewHn a @
fvier & foram |

IR T & o1 (i) o 2023 & €& (i) T 2024 F TR T ot
W %t Tg=H | Nswe e F e o 2024 F 1o T ORR &
aEd, e aeen g Ut wRifY s % R sRo %) YEifea
|

| 6. (a) THiCH WM F TF geH S w9 A 0w F e g5 B w7 w5 s

1=5

| TS | ql W I 1§ ¢ Few wg & g ofk s
| e
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TEAIHS T § A8 VeI @ wiowquiors s RN Ta +0 % 5

o1 o St ) voTeEl v gmanett i Rt ® we SR
76 e § wuTeH vd gl ) yoe frdiwanatt @ anemed |

T Ee faTeur @ AT T A9 § 7 AEEe N g ar T i
T s s & si W R ) wad |

TR N N FWT WHRRET % e W % w9 guae oA B 1

2=5

YAATET | G & §B7 IR 991 & 7 @i €, 37 o % v i
fore < gerameor wrfifer s R & wETes B A £

W AhAAT HHI (KSF) 9T =1 IR & 2 37 wwat &1 Fmfor 102+

2=5
HRY RA% IR TTE TG FTH (KSF) 6 7297 W § G50® 8
THa & | wa § 37 ot ford T ohm TR w@ asheran IRl Y T,

whoerateres @ i fors #i ghfta s i mrs fawd 2 7

Torem i ) FHiARe IR % T TR & ©9 F 989 § queme | 9 1+;
% faear wrlifa it ferdrmand off =amu

AT
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(b) “T YEUF Hi TH W Ja1 & &9 5 9gd W1 S{fenrd Pt 2t 8, 1+4

39 foeror i T8y o e g, U YWY gl =8 Wil e

1 I wgM o fore fAwTs I arelt yftresa @1 ford
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E1 15 Ik SR | E
T W <l TS - 8 .

T TS - 24 it 37 — 70

sreafifdt & frg v féu

TA-99 % Q "W &, Part-I 3R Part-I1.

Part-1 § Tgfieedia w1 (MCQs) ¥ |

Part-Il # FUiT® TR & I H ST I U § |

gfiftas X f A vt § deifta 9E-u= R Wi R @ 1 afy smuw et ww

i 5§ @ Fles & am 3§ 9@

5. Part-I% MCQs WH! ¥ ST ¥ OMR SR-1 R fafea a1 & 5 s avirems sw-gfRem
F (AM-F) JO7 T8 R a1 71 ¥ | Part-I1 & Tt F IR Woiers IwR-gieem 3§ fram € |
el aEt ¥ SR oo -3 $ i foeR W ST e T g |

6. (0mw-w,whﬁﬁavhmw-3%m%g@gswﬁmw%mﬁawﬁzﬁ%
forg, féd meaw & srafddt wfea, Faw o | 2w |

7.  Iufeafy doftas ¥ faur AR PR W iAo weR Sw-gfewem ® s s |

8. wltan & T ¥ v @ AU when F@ BieA K swfa it | Al sw T @
IR f R forr & @ ot hen N wfer @ sro o e w & St g

9. wigm € sty 3w ] | M e H gEl F v Wen F@ vigA F @ Fww
F AUATHS I ATt STR-YIETEH OMR T&A I8 @feq 1 F amawaw & |

10. ST R Tl $r wie w, s By-w= F 78 2 | afieigfa wwm = |

11. 3t Fa aRa T 5 ywR f gemar 3 O T wa @ Fhas F Fewdt & sam
T ATAT MATET BT a1 S AT wfEq /IW@ Fa o 4, @ wier @ fremfia W
fear stmem ok ¥ sfifam derers Fead & g saert 8w |

& W=

WA -1 70 3/
1. Section-AH1-47FE | TR FS 1 AEE e S 3w A Al 2 wam M R |
2.  Section-B § 5-8 ¢ & ) 9% G@ 5 WA 8 7UT 99 3 WAl 4 A fhi 2 wrIm MR |
3. S whenfii w Sw frgh el weam g &, sl & I e el F € 31 € | 78 vl
%ﬁiﬁﬁﬁmﬂﬁwi,ﬂﬁﬁﬁwiﬂ%ﬁmﬁﬁﬁ&@mﬁﬂwqﬂ
| :
4. Hsfic feufrt s wor A SR | 1
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